1. TSR VEHTEEEL
SH4E3A31HRE

H B BRI TSN EHERI L EY
T fi =
X 4 MmiGOTELE |G| FR|/KE|EE|(BA|&5
FREFHIGR & ™ 15 -1 -1 -1 - -| -
w e W i5 51 51 6| 1| - 12 MAETIBOHFEEEL
BER KE T BA §
BERWmE 1| 1| - - - 1F ¥ W 1 2 - - 3
N B4 Wi
St 75 #0155 7 15 o Bmomor -2
A E ZFH A 1T - - 2
B B T 1 1T - - 2
N E 6| 6 6| 1| -| 13|44 w1 1 1 - 3
wae W5 1l 1] - 1| -| 2 BETISEOEHFEEE
BR KE fEE BA §
HF 2 F B 12| 12| -| -| -| 12|F m 1 - 1 - 2
iﬁﬁnﬁmi%;’kfi*%ﬁﬂ% - 1 -] - 1 ( 5. [B/MNEERETIS )
BR KE fE2 BA §
it = 5 1 -1 -1 1 - 1 |\B/nEEmETE 1 1T - - 2
NS 151 13| 1| 2| -| 16
& Hi 211 19| 7| 3| -| 29
= = g wl Z 2l Z| NEATE 6 REMATE 13
VA1 =] 4 =]
K & M 0 S I R N ATIE 6 REMATIE 1
VA1 =] 4 =]
woE oA e = @ 10 I I R NEEHATHIE 1 REMATE 2
B B\ -1 -1 - -| -
Hi 191 7| 3| -] 29




2. HFEHIED DMK

(D) TR D ENFE T 55 KR TH4E3A31ARE
H B X7 BS54 AR ENFEERE R
B f’;‘t E & K 1E B
# it b
R» 5 Wil g E = A

+ =3 m 1 1 2
fia 5 1 1 1
X B F W 1 1 1
A = ] 1 1

M Ol 1 1 1 1 1
iz ] 1 1 2 1 1
£k F ] 1 1
m Jn ] 1 1 1
£E 1 il 2 1 1
33 & ] 1 1
® & ] 2 2
2} m 1 1
(i n m 1 1
AN {31 m 2 2
[ 53 ] 2 2
a Hi 0 6 15 19 7 3 0




